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1. Yrnodoyiote 1o p.k.8.(1078, 252) e xpron tou Euxkleibiou adyopidpou kat pe avd-
Auorn og IMPWIOUG.

2. 'Eow a,b,n € N, n > 1. Aei€e 6u p.x.6.(n® — 1,n® — 1) = n? — 1, érou d =
n.x.6.(a,b).

3. Eow a,b € Z — {0} xar k € Z. Aeigte 6u p.k.8.(a,b) = n.x.6.(a, b+ ka).
Egpappoyn: Ta v akodoubia Fibonacci rou opidetat fo =0, f1 =1, f, = fro1 +
fr—2, m > 2, deitte out W.k.6.(frr1, fn) = 1 yia kabe n € N.

4. Anodeigte ou yua kabe n € N unapyet mpwtog p tétoog wote n < p < n! + 1.

5. Arodeifte 6t undpyel povadiky 1p1ada g popens (p,p + 2,p + 4), o6rnou p,p +
2,p + 4 eivar mpototl apidpoi.

6. Anodeilte ot yia kdPe n € N, 0 ap®pdg 52! + 621 givai oA /oo tou 11.



